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i“\‘ote: You h?ve .four choices for each objective type question as A, B, C and D. The choice which
| you Ehmk is correct, fill that circle in front of that question number. Use marker or pen to fill
’ the .cu'clcs. Cutting or filling up two or more circles will result in zero mark in that question.
Write PAPER CODE, which is printed on this question paper, on the both sides of the

Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the
situation. Use of ink remover or white correcting fluid is not allowed.

(D) ((_E) (B) - (A) QUESTIONS
S| S # s | PRI Lot | 1

Who called economics "Science of]

~ Malthus Marshall Keynes Ricardo ;
material welfare'?
By - o & e brs7K | 2
_Infinite Positive Zero | Negative |The slope of demand curve is:
23 bl - i b LbJ&q’-&&;}Lﬁdﬁf{&le’ 3
Stock Utility Supply Demand e QUa A b

The quantity of commodity which
is offered for sale at a specific
price is called:

—F 3 R, =i e b3 Lo TG 4

The slope of curve law of

i i ical Positive
Ncgam{c Hoizontal Vi o diminishing marginal utility is:
ey _j;l,ﬂ/‘)( Jjblfa)f‘:‘ NIV XS If-.u’: KJJW»/.%’A'JJW.?‘ 5

The sum of fixed costs and

Average jard
g Total costs | var iable costs | fixed costs variable costs is:

fixed costs
_..,p/'.f’ d Ll =Fls = | :grnuubvﬁ)’w Jouds| 6.
| ; ) R Industry |The application of law of
| Housing Trade Agriculture NAustry \jecreasing returnsis on:
- e = a = T J;
A7 il = 1 st ‘e ndod &L 7
- ¢ [Equilibrium Under perfect competition thel
Finance Consumer e . lof demand |price of commodity is determined
Minister & supply |by:
~—

Al sl _,led-a_-»’f/‘- ) ae Y BEMsT | 8

l  |Marginal productivity theory was

. Adam .
Cannon Keynes Clark Smith & prcsented. by:

§ ) Malthus

Pigou & | Robbins & | Marshall & J.B.
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international trade was presented]’
by: ‘
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Answer briefly any Six parts from the followings. : _
Define Macro Economics. - : _é.‘:byj‘m_-,?b‘d/ (i

-

J"‘f't?gagwicliaky’fkd’fbgKwé'éaf&b‘v’-ufﬁ-c_‘/.@)A:(Macro)tf el
e b T ST S s e 5 TS
Macro means 'large’. When the economic is evaluated as a whole for cconomi:: analysis it is calle

macro economics. It studies National income, National saving, Aggregate consumption wealh
Aggregate investment, Aggregate demand, General price structure ete

What is meant by Economic Problem?

v.;_,u/\_fa,y& p

- :‘T—"K‘{U;’.‘R?L}.’ib»JJx;,uJJ FRI i o
-u_?dﬂ(:iﬁ;{ul(?luygc.J.:,I}H,j'ul 2 -w-ijjb}l:):l;é'lj 1
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,: essor Robbins bases his definition of the quality of life on the fo]lo@ing four facts;

gources have alternation uses. ,

gome of these desires are more important and some less important.

i1 Human desires are.unlimited 4. Resources are limited

\ccording to prf)fcssor Robbins, if these four characteristics (Tacts) come together at the same time,
' pen an economic problem arises if any one of the feature does not exist, the economic problem will

PO
- . !

| ﬂot ariSC.
pifferentiate between initial utility and marginal utility. -quga)‘ju(;‘if‘:ﬂ;luliléml (iii)

_:nﬁvubic.dt"";-’-ﬂi-{'é-.at@bf»,sléwﬂ,ulLn,z.nd’w.dn&’éJKIJT?JLU’( iR
- et L AU X

rhe utility obtained by consuming the first unit of commodity is called initial utility whereas the rate
ofchange in total utility from the consumption of a surplus is called marginal utility.

what is meant by Luxuries? ?4_;1/%‘_-_.;!}? (iv)
K ..ﬂu.l,):/.(d,sI'Jd'.:ur:u:Jb"/lﬁ)l/.lwm,?m:l/c.:A"J:" ) 4
Luxuries means the goods which are used by those individuals whose income is very high.
pifferentiate between consumer goods and capital goods. -( /uka)ufgl./é_l_/‘bﬂ_;/(’_ L;’ v)
retsBlertire FEEILG O e GlunZ 2 i £ Jm&s%.w:‘,um_/‘w (R
| | e b P G

Such goods which consumers buy for their personal use are called consumption of goods, whereas
wch items from which similar goods and services are made are called capital goods.

Describe the concept of demand. -L[fu.l;: x"b’.,-—“ - (vi)
-ufg'/&»p(.‘.»lbu:?:’gﬁéja;"u’&LJ/béLLﬁzgé{_ﬁl}Lﬁlééi e IR
¢/"'..=a; -2 J’”ﬁJL{j -1
Demand refers to a desire for a commodity that the consumer has the purchasing power to
satisfy. There are two terms of demand: 1. Desire to buy . 2. Purchasing power
Write four assumptions the law of demand. y -g{{f:/UJ/.‘JI{LJUJF (vii)

‘Assumption of law of demand: : | re oy AL My IE I
T sUSEGAIG 2 SR VP

Ul INE VKIS 4 Lredalfeiie -3

1. Consumer preferences do not change 2. Do not change the prices of substitute items

3. Consumers' income does not change
4, All units of a commodity must be of the some nature

'What is meant by expansion in supply? Tc“-:'/gcflk’:/?_gﬁk,' (viii)
-uj':d./b,l:’,’Kyjc.i_é.dlgamﬁd’gﬂ?gb’?.&fgfé_u{rzc_,ud/,wuiﬁ' el

According to law of supply, when the price of a commodity increases its supply increases, it is

Glled extension of supply.
What is meant by Stock?
-u.:’;{(:,ji)_fl‘/c_"adx)ﬂfdsLu:/b/&:/.ufdi?ﬁﬂﬂubnp(f'.u{ﬁ;:3:.,_1:/!0’( ol

at is available to sellers in the market at any one time is called

Seol e s @3 (ix)
The total quantity of a commodity th
Slock.

| Answer briefly any Six parts from the followings:-

. WYY 177 SR
_4'_r,-?wi,lﬁ‘)xl;l&dl:L_ﬂdl{::,ud/ufb("’b‘-d/&d"i—%JJL‘:" P

iico¥lliput obtained with the hcip of all the units of labour employed is called total productivity.

Define total product.
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Draw a graph of law of constant returns. ’ <L GBKJ"'GL&JJF o
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What is meant by marginal revenue? ?‘4::’ e ’(J (iii)

é{’-/.a‘bf'éfb‘.ﬁ&"'ﬁﬁf—J:-’J‘bc.L/&’)gjb’u'U_g&h'&Li'!((/'tf;@-(./?”’/ﬁ'dﬁ?‘? el
un e !JIOOOJ::L.[:,-"/.I,{}{]()(),(r/;)‘llv‘(‘;_aMdﬂ,?‘lﬁ;tﬂJU'ij/)'u:dﬁLyc—Lf

-er_,, 8=1000- 1008 = d:‘.vf"‘?um}’w;uIOOSJQ&-JQ«"’/'{){ 1015
Marginal revenue refers to the amount that firm earns from selling an excess unit (_)f its output-or the
amount by which total is increased by selling an additional unit of output are called margina|
revenue. For example, if a firm carns a total .of Rs. 1000 for sefling 100 meters of cloth, and if 101

meters of cloth are sold, total Rs. 1008 will be received, then the marginal revenue will be = Rs.
1008 - 1000 = Rs. 8.

Define long run, = Sy NIV (iv)
&uiJ”"x_-;afu.-f--'e.'r/'w.»fwﬁéfdxf;vugfvlar)umﬁ,aﬂgyﬁsub'/aJ_b/ Iy
| -Q_Tz_x/:;}ﬁﬁdéhragﬁuﬂc_/»{_ﬁcfdg
Long run refers to the time in which the firm can change its size or i,e. in this period the firm is also
in its defined factor of production can change in other words, all factors of production are variable.

What is meant by cost of production? "‘L»"/.JLL}'U&JJW v)
_G‘-_tgtf_-}n,/,uttjbﬂj_L,u,v&q_u{r).,gfw._s,m»y;.&sg,._i/w IR

Cost of production means the costs which a firm has to bear under all circumstances for its

production. . ‘ ‘ .

Write four factors of mobility of labour. -u."aJlbl{LhLlﬁz:(d_{%cfiJ::f (vi)

The four factors of mobility of labour are as follows: :ugd:ifqulf/ngi_bzd{%af/"Jsf ]
eIl S N 2 1 IV S T

1. Opportunity of promotion * 2. Physical health 3. Climate 4. Duration of work

Define wages. , _q:):i_f/‘.{foﬂ (vii)

..9t‘llv.f;.,zhml:;;LJ,L.;.L,GJUA,?;u'%,;zf_{fg‘;,b,w R
The remuneration paid by an employer to his employee in return of his services is called wages.

Write four functions of entreprencur. ‘ _u_“UJ,;A:LZf (viii)
SPRS et 4 kel ik 3 K 2 e 1o

1. Managing the business, - 2. Developing a business outline
3. Paying compensation to other factors 4. Factors joint production

Give two examples of monopolistic firm, -Llf':fidgbub(r/.ﬁ)ub' (ix)
1. WAPDA 2. State Bank of Pakistan OST Gt 2 ik 1

§X2=13 . o LT A TV VTN
Answer bricfly any Six parts from the followings:- P .
- Explain per capita insomc. . . i : 'L[f'-.‘.’/.'.d’d*"(ft} n
- AT e T AT b7 A T
Average income is called per-capita income when the nationy| ir;cm;u; is divided by the total
population the per, capita income is obtained. ‘

National Income J47§7 Pe - ) .
P S r-ca 11d T
Total Population (LT Plia income d"'t//&}
Write any two difficulties to measure national income, ‘uj;;élﬂ'”Jij;Jéde; (ii)
llegal Income (473567 -2 Trancit: , . % bl
cgal Inc 4T4562 : Transitional payments UE‘?‘J'JW_:L’_“-:[{
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: ﬁ’;; the concept of moncy? NS AU
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-  commodity i called money which is accepted by the pu;)lic as a medium of exchange and
- ghich at the same time performs the functions of measur’ing value and storing value.

s meant by barter system? S ,i/l.;fc,("'x'zk (iv)
..L—L:L/C:LJL':”U:VJTJ}‘:‘,J:;U':JL_G,J,(‘;_;,by’/.‘_;:_J_é‘CZU’/,,(Z_,_ff;.:i/z-(yf'fﬁv el

. gartel system means direct exchange of one good with another good while money is not used as a
- pedium of exchange. ~

 yyrite four 4) characteristics of trade cycle. _qfug_,?,éytfu,é;bf )
‘Lg-,gJ/.Uﬁ.;wLﬂ»’f./nglf 3 _u_-:L/;u,:-?,,;gg_}@(b/,;_gjl,ﬂ_ic"ﬁxgalg -1 i l?
_QLﬁL.‘z’:}d’;U'uf;, (}/L’: -4 ey U-:;Aj';)‘w_{,;u;:‘;”"l;'_(_ﬂ!:'.’:— U’fg J/L‘: -3

1, Different phases of the business cycle follow each other at regular intervals.

3, Thereisa difference in the level of the phases of the business cycles.

3, Phases of business cycles have similar effects on all sectors.
4. Trade cycles are international in nature.

write down four advantages of international trade. -u.'q»";’/l,'ﬁw‘fd”'”"f (vi)
7 K.L;ufff 4 JPoSelig 3 0 CIdL 2 d?’)ﬁ?'.ﬂ-‘ti-f--'/"- -1
1. Availability of commodity in times of scarcity 2. Establishment of world peace
3. Achieving rapid economic growth. " 4. Acquisition of foreign goods

What is meant by balance of trade? ?c‘..;s/L_Ji—.,.:uwa? (vii)
-4:_E'LL,J/:.,JL;"'UJ'?__,D;VK:J_hu(:,ul';:d//:':J_LJ/.;'AT,:J/J/JVV(J.Q W
The calculation of the value of a country's annual tangible exports and the value of its tangible

imports is called the balance of trade.
What is meant by direct tax? ?.L.)’/‘L_fc:- gfg.:/lnu (viii)

AP ; ot s p - - 4
J—CHH,L'?_:_I'LL.fu"g.E";lEL:/‘J:L:U"/';fLw.’._ == &/ ':'g,"-u.'fﬂ{u)'ﬁ‘jgld‘ HE 4
A tax which is paid by the same on whom it is applicable and cannot be carried forward is called a

direct tax. For example income tax. .
Differentiate between Zakat and Ushar. -Q/C”J/;U:/"/”Tﬁ (ix)
J.LL‘,.LZ//"-”L/?.C_J:JL:/T_14,;‘L&__‘/;yfjsufg,‘.’:’gg»tl.-"}!.':!-ﬁf.-:. JL-V.,,L-;'.?) Lé-«g)f/c.';j'/]’ HEY 4
i:"’)J,u,Ié;w;,:,,»"c/J’bC:}bf.”'c—z"'».;u(u'-'f-'?%- ':'x’":'.:,-f’u',:&:___:-"l/: g,(yJGdU/’J(Q';f"

-.a.é&f/"iﬁ:us'.a.u}) .

Zakat refers to the mandatory obligations of a Muslim which is a religions duty, which he pays from
ries according to the prescribed rate through the mediation of the

his wealth directly to the beneficia
is intended from the production is obligatory and this is called

Islamic government, while profit
2akat ushar.
(r))pp )
3x8=24 -L[/://-:,U‘RL..:—UVJ.:.L’S:( L
-q/f'lx?lsmulhﬁu,}@ U;Jy)u:’g
Explain Law of Supply with the help of schedule and graph.
_ggrl/g'b:lub"'l':ty%&QJJJ‘I;:/:%;G'
n with the help of schedule & diagram.
S-S NSNSV B i

Deseripe the critical analysis of Prof. Robbin's definition economics:

E"Dlain the functions of money. _éy?u"l}ﬁ,)
S‘ate the canons of taxation. —LZ/UEJ!"L“:—);'UJ? m
W ——

Note: Attempt any three questions.

ExPlain Law of increasing.l'et“"
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